2023. 11.01.
‘ No. SER S gy HOlE mKI|IZH WEKA| BKAZ ngH| x| by
1|24 FOHR R e Z5 | HE 14 9 #100,000 #100,000
2 |29 fFoUR A2 iR 4TRYUR 2 | M 14 7 #100,000 #100,000
3 |24 FoUR S S 2 | M 11 6 #100,000 #100,000
4 |29 FoUR +EY 2N 2HYE s | HE 10 7 #100,000 #100,000
5 |79 fFoUR 252 A S BAEE 71X =2 | 14 15 8 80,000 80,000
6 |74 FoUR ST a3 e D MEF Y s | HE 15 7 80,000 80,000
7 |®4 FOHR ZALE RYMEF AEY 2 | M 6 4 80,000 80,000
8 |®4 FodF £h7|2hg Y2 H =LA ol Y =2 | e 20 13 #100,000 #100,000
9 |2y SoAg MER sta|A3 pa| =3 | g 15 7 100,000 #100,000
10 |29 FodF e e e =3 | 1HE 10 5 #100,000 #100,000
1M |29 FodF Incoterms 2020 F2 7 Atg =3 | 1M 3 1 w0 #0
12 |29 So4Ue SiBHo|Of BHAAE HF M2t =g | 174 5 1 ) w0
13 |29 FodF SAUR OtAE 7| X| 32| M 64 42 #392,000 #392,000
14 |29 FodF ALY Upgrade TH7|X| =g | M 54 29 #296,800 #296,800
15 |29 Fo0AE +E0E 7= =2 | e 10 6 #100,000 #100,000
16 |9 Fo0AE 0|01 AFZE = TAIOHE e 6 4 80,000 80,000
17 |29 Fo0AE YIEQCZ 6f2uto|o] w=3t7| =2 | e 3 2 40,000 40,000
18 |29 Fo0AE OfohE 28 22}Q sl M2t =5 | 3 2 40,000 40,000
19 |29 Lo} g 22|t (Alibaba.com) B2B O € =3 | g 3 2 W40,000 #40,000
20 |29 Fo0AE /REE 28 4N opE =2 | e 3 2 40,000 40,000
21 |29 fo07 e 22t0l sfelot e Fet (A= 0l/otorE/LalHtE/ [ R E) =2 | e 12 6 #150,000 150,000
22 |89 Fo0AE AW IH HEL A HY = | 11 6 80,000 80,000
23 |29 Fo0AE S2Y H =LA Yo = el oM eI 7 4 80,000 80,000
24 |29 Fo0AE HEH AYTES Qe 4R =512 =5 | 4 1 40,000 40,000
25 |29 S/ FTA AT FTA 2872 =8 | e 13 13 #100,000 #100,000
26 |24 S/ FTA FTA AR | M2 3 | e 6 6 W60,000 W60,000
27 |29 4/ FTA FTA QMK MERY M8 =3 | 14 6 6 W60,000 #60,000
28 |29 S/ FTA O M2t E4+2 HZOIX| =3 | g 7 4 w0 w0
29 |29 e fog B HES =3 | 14 10 6 80,000 80,000
30 |AtHAIECHH| |2 H0f 209 Eh7|2ty R0 2| 1M 20 13 #100,000 #100,000
31 |2 EXRET] R4S sQL, FEY w2tst7| =3 | g 22 5 200,000 ¥17,000( 217,000 L 7HHSHX| & R4S SQLEE U2tst7|
32 [F2 oA /A Ho|As O Y AHI|Y =3 | 14 6 8 50,000 W50,000
33 |=g oA /A QIAEID R OpA| e AM7|Y =3 | g 5 2 50,000 W50,000
34 |2 oA E/8 Y 2HXR X2 Ofs AlF3 AL, AHE goj2h =3 | g 10 10 W85200| 14,800 #100,000(2 22| MM, 2H|AIZS OfEH %07t
35 |x=g oA /A AR E QITh 107t YWatol 7|2 Ue | 1M 10 10 W85,000 15000 ¥100,000 (% 40| 0|7 283 F0|0}
36 |52 o €/ 4B CIXIE oY B =3 | g | 10 3 #50,000| #35,000)  wes,000| S7F BUITE SATIIEE G4 B EA =S
37 |AH= oA /A ESG HE2 27| =3 | g 8 1 50,000 W50,000
38 |AR oA E/8 Y QIchet ZH S 8Ql0fA| bl 2-E QoA IS U2 | he 8 5 101,200 28,800 #130,000|2tstZAM S L] / DHSIH R AAIAE
39 |2 oA E/8 Y Ut 2 Eot B 22 Y H| =LA OfL =3 | 14 15 7 ¥98,000| 26,000 ¥124,000(H|=L|2 Oj Hto|E
40 [He B £7|22 2otdE QIEE AlCfol a3t HE XY oY U2 | he 4 2 20,000 ¥20,000
41 |AR B QERH MIF KGN U €38 oetus U2 | he 2 1 20,000 ¥20,000
42 |A8 B B AR BT A A W IS oens e 1 %10,000
43 (=g [I[ESEES [ClOIE Q128 HO|E{2 Atmstat °e | 1M 10 3 #100,000 100,000
44 |E2 ITH =LA A3 2 YOotE = Al Transformation 7|& °E | 17 10 10 #103,000( #17,000[ #120,000|Al Z|Z2| +=¢f
45 |2 ITH| =L~ Al O] =t 0] 4 242 | 1HE 13 13 #50,000 50,000
46 [x2 ITH| =LA S Hj2E E 2| (Deep Learning) U2 | mg 10 10 116,000 24,000( ¥140,000(252| Eaiy
47 |2 ITH| =LA DFE I ClolEf 24 with Excel(Power BI) 2= | 1HE 16 16 100,000 %20,000| #120,000(2t3tst A2 GO|E &4 with Excel
48 |ER ITH| =LA Chat GPT, Lf S27} |02k =3 | g 10 2 80,000 19,000 99,000 |GPT A Lf2{|0] M
49 |F2 EIESEES %oz 104 HHA +¢ =2 | e 8 2 W83,000| ¥17,000( #100,000|¥S 2 10 8lE|3 ¢
50 |X2 OA [PPTO| A1) ZHE| 70| HTHE S210|= HI% H|Y =2 | e 10 4 #100,000 100,000
51 &g OA [PPTS| A Pro2&a{o| ZA|1 A2 2M 22 =2 | e 10 4 #100,000 100,000
52 |mg OA HEOIS QI3 AT A 2016 - HO|E Y AR =3 | g 24 10 80,000 80,000
53 |xg OA HEOIS QI3 AT AM 2016 - HO|E| A MH =3 | g 24 1 80,000 80,000
54 |EE OA [HD]EHZ Y9 BF2 A= ZZ 2l Word 2016 Part.1 =2 | e 17 5 #34,000 #34,000
55 |AS OA [HD]HHZ i %) BF2 2= XF 2l Word 2016 Part.2 =2 | e 17 4 34,000 #34,000
56 |Z2 OA [HDIF &&= H| A|Z{SHAL - MOS AHAF 7] (MS Word 2016 Expert| =& | 17HE 10 4 20,000 20,000
57 |AF OA [HDJF A =H| AIZSLRE - MOS RS 7| (MS Excel 2016 Expert)| =2 | 17HY 10 5 20,000 20,000
58 |xZ OA [HDIF Y& H| AIZfSER} - MOS At E 7| (MS PowerPoint 2016 | =& | 17H¥ 10 4 20,000 %20,000
59 |A&F OA [HDIF &&= H| A|Z{SHAL - MOS XHAF 7] (MS Access 2016 Expe| =& | 17HE 8 3 16,000 16,000
60 |2/=0] H =LA Fof 102H0]| B2 = Biz Writing 32 | Hg 11 3 49,000 49,000
61 |2=09 Hl=L A Fo HI =L A7} 29| X = Biz E-mail g | 1hE 16 4 59,000 59,000
62 [2A=0 Hl=L A Fo AELQl 2ldemA 2P0 =3 | hE 21 5 69,000 69,000
63 |2/=0] H =LA Fof PAGODA 7|%3|3} | can speak 1 2 | 1Hg 20 8 w65,000| 15,000 #80,000(i Can Speak 1 Blue
64 |2/=0] H =LA Fof PAGODA 7|%3|3} | can speak 2 2 | 1Hg 20 7 w65,000| 15,000 80,000(i Can Speak 2 Blue
65 |2/=0] H =LA Fof PAGODA 7|%3|3} | can speak 3 2 | 1Hg 20 9 w65,000| 15,000 80,000(i Can Speak 3 Blue
66 |2/=0] H =LA Fof PAGODA 018133} SLE 1 32 | Hg 24 7 70,000| 15,000 85,000 |Speaking Listening Expression Compact
67 |2/=0] H =LA Fof PAGODA #0{ 83|35} SLE 2 32 | Hg 24 7 70,000| 15,000 85,000 |Speaking Listening Expression 2 compact
68 |2/=0] H =LA Fof PAGODA &0{8I3|3} SLE 3 32 | Hg 20 10 70,000| 10,000 80,000 |SLE Compact Edition Level 3
69 |20 H =LA Fof 18871 d¥L 2 HiR= Biz 212 (1) =5 | HE 15 15 70,000| 22,000 92,000 [HI=L|A Foj3|ot EHAH
70 [A=9 =LA Fof 18871 d¥L 2 HiR= Biz 212 (2) =3 | hE 15 15 70,000 70,000
71 |29 =LA Fof 18871 d¥L 2 Hif= Biz 212 (3) =3 | hE 15 15 70,000 70,000




72 |el=0f Hl=L 2 Hof New 3+=Q10] 20| 3t Fof U= (1) =g | 174 20 9 W60,000( 13,800 w73,800(H= Q10| 7HY 80| S2|& TOP 70 EOf M Bt2H
73 |29 =LA Fof New £H=Q10] B0 3t= FOf H== (2 =3 | 1HE 20 9 #60,000 60,000

74 |2=0 H =LA Fof 12 YOl 725 - QAAO|E /& a2 | HE 20 7 #80,000 80,000

75 |2=9 H =LA Fof 12 g0 728 - E0| &= 72 g | 1HE 20 7 #80,000 80,000

76 =0 =LA Fof Let's Role-Play! 23t HIR= HI= FOf (1) =5 | g 20 4 #80,000| 13,500 #93,500(34-5EH0| 2 BLfi= H|=L|2 Hojg|3t
77 |2I=0] H =LA ¥oj Let's Role-Play! Z3t2A{ Hi 2= H|= Hof () g2 | 1Hg 20 4 #80,000 80,000

78 |2=0f Hl=L A g0 SRS HI=L A 0% 1 3= | HE 13 9 77,000 77,000

79 |2=9 Hl=L A g0 SRS =LA 0% 2 3= | HE 14 9 77,000 77,000

80 |2=0f Hl=L A g0 F RIS H[=L A 019 3 3= | HE 12 8 77,000 77,000

81 |2=0f H =LA Hof 10222 g7 DrAESHs HI=U A 0jH Y FOf Stepl a2 | HE 16 5 70,000 %16,000 86,000/ ¢t B2 Eli= RAY0|, O|H L YO, A Yo
82 |2=0f H =LA Fof 10222 g7 Or2EShs H=U A oY B0 Step2 a2 | HE 17 4 70,000 #70,000

83 |2=0f H =LA Fof 10222 g7 DrAEShs HI=U A A9 YO Step 1 a2 | HE 15 5 70,000 #70,000

84 (90 H =LA Fof 10222 &7 OtAESHs =LA A2 HOf Step 2 32 | g 13 5 #70,000 70,000

85 |20 H| =LA Q&0 AZRAZ A= 7% 1 =3 | g 22 6 #69,000| 18,000 W87,000(NEW AFAT U=20f 7|&eHd +

86 |2A=0f H =LA 220 ARAZR ARO 7|E2 =2 | e 22 4 69,000 - 69,000

87 |29 H=L A A0 AFAF ARO 7 =3 =5 | 22 8 69,000 ¥17,000 W86,000(NEW ARAT AR 7| Xty T

88 [2=0] H =LA 220 ARAZR AR0 7|E 4 =2 | e 22 8 #69,000 - 69,000

89 |2A=0f Hl=LA d20f CHardl Biz 220] OtAH - o|H Y g | 20 8 #70,000| ¥9,000 79,000 |(£Al=F T OK! HI=LA L2 2MEHY
90 |2A=9 Hl=LA d20f CHardl Biz 220f OtAH =5 =5 | 20 13 W60,000| 15,000 75000 2= H=LIA YEE 9IS L=20i2(2 -7| 2 H-
91 |2A=9 Hl=LA d20f CHardl Biz 220f OtAH S5 8 | M 20 13 W60,000| 15,000 75000 Y= HZLIA YEE 9IS L20i2(h -HHH-
92 |2A=9 Hl=LA d20f CHardl Biz 220f OtAH g g | 20 13 60,000 ¥12,000 W72,000(0f[H| A H|=L|A L=0f

93 |2A=9 Hl=LA d20f LEOZ MLEAH H 2t 2 Sy A=0] 1 =3 | 1HE 15 13 W70,000| ¥14,800 84,800 (I o8 A=0f

94 |2=9 Hl=LA d20f L2OZ [UXH H2tH|2t oL 20| 2 =5 | 15 13 70,000 70,000

95 [2=0 Hl=LA d20f H72| 2 HjR= H2tH2t YL =20 =5 | 15 13 70,000 70,000

96 |2A=9 H =LA 220 AU X9 HH 2 Hi = H2tH 2 oYL= =5 | 15 13 70,000 70,000

97 |A=A H =LA 220 L& wX| Yot e B 2= 0ol 3602 F (1) 32| 1HE 20 4 #70,000| 13,000 w83,000( Y =0 =& == OtHOl 6002%

98 |2A=9 H =LA 220 L& v g2o @M BieE= OtECl 3602 (2) 32| 1HE 20 4 #70,000 70,000

99 |A=Af H =LA 220 L wX| Yot M B 2= OtEel 3602 F (3) =3a| 174e 20 4 #70,000 70,000

100 (=0 H=LA F30f Tc 20 7| 3l2t (o) =3 | 1M 19 7 79,000 ¥17,000 96,000 (Tt CH =0 7| X33}

101 |9I=0f HI=LA 530 otact 30f 7| £ |t (3h =3 | 14 19 6 79,000 - w79,000

102 |9I=0f HI=LA 530 Lol Z gle S2EY 5370 - HHaz(oH =3 | 14 20 10 #70,000( 15,000 w85,000(Ltel ¢ gl BRET 530

103 [21=0f HI=LA 530 Liel Z gle SREY 30 - BAIE (1) =3 | 14 20 10 W70,000( 15,000 w85,000(Lte ¢ gl SRET 530

104 [21=0f HI=LA 530 Liel Z gle SREY T30 - BAIE () =3 | 14 20 10 70,000 %70,000

105 [21=0f HI=LA 530 Lol Z gle SREY B30 - EFHE (1) =3 | 174E 14 7 #70,000( 15,000 w85,000(Lte ¢ gl BRET 530

106 [21=0f L E | Lol Z gle SREY 530 - EFE () =3 | 14 13 7 70,000 %70,000

107 |9I=0f HI=LA 530 Lol Z gle SRS 530 ojnYH 3 | e 14 7 W70,000( 15,000 w85,000(Ltel ¢ gl BRET 530

108 [21=0f H|=LA 530 E23fet B HE S0l HS0IX|? £FZ| 1M 20 13 80,000 80,000

109 [2l=0] H =LA F50] AW CHh Y =01 OFAH 1 (1) =2 | 1He 22 5 80,000 ¥15,000 95,000 X M7HF CHafl S=0f Op2E STEP 1
110 |2I=0f HI=LA 530 EAHY crE R S20f OkAEH 1 (2) =3 | g 19 4 80,000 80,000

11 |2/=0f L E | A0 cr2td S30f OrAH 2 (1) =3 | g 19 6 80,000 #15000| 95,000 %4747 CHatel S70] OFAF STEP 2
112 |9I=0f HI=LA 530 A0 cr2td S30f 0tAH 2 (2) =3 | g 21 7 80,000 80,000

113 |9/=0f JIEFHI=LA Q=0 (WM HEHO 28 £53| 11 15 76 50,000 W50,000

114 |9/=0f J|EFHI =LA 90 (WM HEHO HH 2zt =3 | 14 15 76 50,000 #50,000

15 |2/=0f JIEFHI=LA Q=0 (WM HEHO HES U2 | he 15 76 50,000 W50,000

116 |21=0f JIEHI=L A Q=0 (WM HIEHO 23t F5 3 | e 15 76 50,000 W50,000

17 |21=0f JIEFHI=LA Q=0 (WM HIEHO 23t £5 ag | e 15 76 50,000 W50,000

118 (=0 7|EF HI=L|A Q=0 WAL HI=LA HEHO g | 1HE 15 76 50,000 50,000

19 |2I=0f J|EFHI =LA Q=0f [Z2t 2AT|QI0f 2let £F =3 | 14 15 15 60,000 W60,000

120 [21=0] 7|Et H{=LA Q|20f [HAIEA H[=L|A AH QI |3} =3 | 1HE 15 15 #60,000 60,000

121 |91=0f 7|Eb H| =LA Q|0f |#E|8l Zg 2fA[0t0f =3 | 14 15 15 60,000 W60,000

122 |9I=0f 7|EFH| =LA Q|=0] [Sf2t4 H|=L|A 2{A|0to] 3 | e 15 15 60,000 W60,000

123 [QI=0f JIEHHI =LA 9=0] (22 FZE QZLAI0t0] 23t =3 | 14 15 15 60,000 W60,000

124 |91=0f 7|EFHI=LA Q=0f (AR H|=LA oIz A[0tof 3 | e 15 15 60,000 W60,000
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